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PART II [ Probability ]

1.

BY As, Aa, -, An, - B—IBSIILERES, &
(a) A, Bl U BT AIRSL 7 a2 (843)

A
(b) A, EAd Ay REETAIESL 7 #iEl 7 85

FEEE ]

LB X B Y ATBEMWSHMEL E[X*]<+oo, E[YR]<+do.

(a) BAEE: (E(XY1)® < E[X*1-E[Y®] 3 (1043
(b) FUFE (a) BEWI: -1 < ~(X.Y) = 1, B ~(X,Y) 2 X B4 Y FEBRZEL.
' 859

. B Xn ZBPRERGCEER (p.d.f.)

1/n, #5 x € An,
0, 7E‘ X € R\An,
i An = {1/n, 2/n, <+ , n/n}, vn € N.

fn:lR""[O,l] Fﬁi fn(x) = {

B (Xndn SIBABMBL X, B Xn —— X.

(2) FUHZBIVSICzZs, sk X =56 (843)

(b) FUFH Lévy MRPEEFEH (continuity theorem), BILCAHSKBC ARk,
R X 25 (843)
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PART I (F4AB % #1)

I Lt A be an nxn matrix, /TV;. be the true solution
ani % be a cwrz/mz‘eo/ solution of AZ=15.
(A) Describe e procedure of zhe " iderative
improvement " for refining % B0 7. (£%)
(b) Under what condition ope can expect that %’
might be a re/aZh/e/7 betler approximation 4 %,

-Z%Mv&’ 7c- (f%)

LwFiid 2he j/cz‘erlao/afznj pa{/)fmw'a/ Rr) of 4/55}'52 <2
/m’ Zhe /uncz‘im Fly) = /(7(-2) , X€l-1,1], in boZf
Q?m?e ﬁr)ﬂ and Hewlton's /ﬂrwara/ /ormu/a att
-', 0, +]. (107)

(b) Find the best 1ea5f—5yares Ivolyfmim'a/( R/?//rpz'[»mz‘jan
of Dldyree £ 2 far Fx)= V(x—z_) , Xel-/, 1], 4:/ e
Anner prodecct is given }.77 <f 3> :j_/'f(;r/ﬁ(x)dx.

[ Hend : {1/, %, 2’2"‘31‘} 45 AN or?%ojo)m( set. ] (£7)

. Tt
IL. Aporoximate Jo dinx dx with an absolute ervoy of

' post g ooos, Lwin; .5441.:2&'.:. ano .Zkggegzz‘dg=(
rele, (/07,)

. Approm'nm;fe the sofulion of 2he indtiad- value ffaé[w

V=) =-Ysxrl, osxz; , Yo)=/
@) by Euler's method, and (€7)
(h) -&? zhe Run]e—ku#a method of order /pd"
wilk N=f A=0.2 and N, = d24. (£7)

(¢) compare zhe accuracy ém’ The above Ltwo methods. (fZ)




